®

>

JianHui

& FE KR Mo4z 51

& E R HRM04 % 51
Bl 5% 35 B
MO04

B 1% B E R AR
ORI AN 04:1/27
O E: S AIE O

(4] EFMME: 1:PT

04 -

H\Cﬂ
B\ﬂ

06:3/4"
B: &R O SB: A K2 SR &R i

2:NPT 3:SAE

R B R~ E

B {if: mm (inch) & &: 8.4kgs(18.5lbs)

- )\
41(1.614) 4-011,017.5x1L
| 7 (122-39(?724) (4-90.433,00.689x0.039L) 10?;4(‘?225;)2)
‘H——‘ 57.1 | (2.248) i 28.5 (1.122) 65 (2.56)
20 (0.787) 16 (0.63) /c ‘—‘—Izs (1.142)
iz @/ E @ »
| )
| “H (9// 7@ @
Q] % ¢ O
- } T
= =10 —r | (/T
gigl 2o
i Seg . O 83
N G S 0@ g N {} [ [
- 0o = > € + o
+ ~ Il Wi
N i (5] @ !
4\\ »
Iz L—65.8 (2.59 o ©
N> @ z—¢3.s'gL ) & =/
c ‘ (2-90.142x0.197L)
12 (0.472) 1.6 142 (0.56) 137.5 (5.413)
322 (1.267) (0.063) 55.6 (2.189) T oz (4.016) .
50 (1.97) 154 69.8 (2.748) '
34 (3 | |15 58 (2.283) 76 (2.992)
18.3  (0.72) R 71.4 (2.81) 33 (1.3)
| |12 arp) 21.5 (0.845)
120 (4.724) ?ZfJgfesa@ 46 (1.81)
90 (3.543)
125 (4.92)

J

-45-



JianHui

& FE KR Mo4z 51

BERREZERTHIER
B {7 mm(inch)
iU C D E
-1 4-1/2"PT - 4-M10X1.5P
-S | -2 4-1/2"NPT - 4-3/8-160UNC-2B
-3 4-1/2"SAE-2B - 4-3/8-160UNC-2B
-1 - 4-1/2"PT 6-M12X1.75P
M04-04 | -B |-2 - 4-1/2"NPT 6-1/2-13UNC-2B
-3 - 4-1/2"SAE-2B 6-1/2-13UNC-2B
-1 4-1/2"PT 4-1/2"PT 6-M12X1.75P
-SB | -2 4-1/2"NPT 4-1/2"NPT 6-1/2-13UNC-2B
-3 4-1/2"SAE-2B 4-1/2"SAE-2B 6-1/2-13UNC-2B
i IS F G H |
-1 2-M6X1.0P 2-1/4"PT
-S | -2 2-1/4-20UNC-2B 2-1/4"NPT - (1337)
-3 2-1/4-20UNC-2B 2-1/4"SAE-2B
-1 2-M6X1.0P 2-1/4"PT
M04-04 | -B | -2 2-1/4-20UNC-2B 2-1/4"NPT (1.::%1) (22%2)
-3 2-1/4-20UNC-2B 2-1/4"SAE-2B
-1 2-M6X1.0P 4-1/4"PT
-SB | -2 2-1/4-20UNC-2B 4-1/4"NPT (1_31’%1) (2.?3%2)
-3 2-1/4-20UNC-2B 4-1/4"SAE-2B
Bl R C D E
-1 4-3/4"PT - 4-M10X1.5P
-S [ -2 4-3/4"NPT - 4-3/8-160UNC-2B
-3 4-3/4"SAE-2B - 4-3/8-160UNC-2B
-1 = 4-3/4"PT 6-M12X1.75P
M04-06 | -B |-2 = 4-3/4"NPT 6-1/2-13UNC-2B
-3 o 4-3/4"SAE-2B 6-1/2-13UNC-2B
-1 4-3/4"PT 4-3/4"PT 6-M12X1.75P
-SB | -2 4-3/4"NPT 4-3/4"NPT 6-1/2-13UNC-2B
-3 4-3/4"SAE-2B 4-3/4"SAE-2B 6-1/2-13UNC-2B
K F G H |
-1 2-M6X1.0P 2-1/4"PT
-S | -2 2-1/4-20UNC-2B 2-1/4"NPT - (12?7)
-3 2-1/4-20UNC-2B 2-1/4"SAE-2B
-1 2-M6X1.0P 2-1/4"PT
M04-06 | -B |-2 2-1/4-20UNC-2B 2-1/4"NPT (1_31'%1) (2222)
-3 2-1/4-20UNC-2B 2-1/4"SAE-2B
-1 2-M6X1.0P 4-1/4"PT
-SB | -2 2-1/4-20UNC-2B 4-1/4"NPT (1_?%1) (2.%%2)
-3 2-1/4-20UNC-2B 4-1/4"SAE-2B

-46-




	Ò³Ãæ  48
	Ò³Ãæ  49

